Fort Bend County Tabulation Bid 18-070

Construction of Crossover Road Improvement Project from FM 1463 to Katy Flewellen Road (Spring Green Boulevard) for Fort Bend County Bond Project 13307

Recommended: Allgood Construction Co., Inc \$2,461,370.34 Funding: Engineering, Bond Project 13307

Company	Bid Price	Completion Time in Calendar Days	Form 1295
Allgood Construction Co., Inc. Richmond	\$2,461,370.34	125	Yes
Unitas Construction, Inc. Cypress	\$2,574,077.00	125	
Main Lane Industries, Ltd. Houston	\$2,691,948.93	125	
Triple B Services, LLP Huffman	\$2,734,460.20	125	
DVL Enterprises, LLC Kingwood	\$2,753,637.20	125	
FUSED Industries, LLC Houston	\$2,971,151.15	125	
Joslin Construction Texas, LLC Kingwood	Disqualified: A	Altered maximum duratio	n time

						ruction Co., Inc.		s Construction, Inc.	
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	
TION 1	- SITE PREPARA	ATION AND EARTHWORK							
1	DWG	Fort Bend County Project Sign (Furnish, Install & Remove)	EA	2.00	\$621.00	\$1,242.00	\$900.00	\$1,800.0	
2	102	Clearing and Grubbing	STA	33.50	\$4,417.00	\$147,969.50	\$1,500.00	\$50,250.	
3	110	Excavation to Haul off Inlcuding 4" Striping	CY	7,168.00	\$8.10	\$58,060.80	\$7.00	\$50,176.	
4	110	Earthen Swale	LF	2,472.00	\$3.78	\$9,344.16	\$3.50	\$8,652.0	
5	110	Borrow/Engineered Fill Material	CY	3,300.00	\$8.10	\$26,730.00	\$15.00	\$49,500.	
6	434	Abandon Existing 5'x3' RCB (under FM 1463) with Flowable Fill	СҮ	10.00	\$270.00	\$2,700.00	\$550.00	\$5,500.0	
7	465	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	LF	350.00	\$10.80	\$3,780.00	\$25.00	\$8,750.0	
8	495	Removing Old Structures - Headwalls	EA	1.00	\$594.00	\$594.00	\$2,568.19	\$2,568.	
9	495	Removing & Dispose of Existing Fence	LF	260.00	\$2.16	\$561.60	\$2.00	\$520.0	
10	500	Remove and Relocate Traffic Signs, Mail Boxes, Roadway Signs	EA	8.00	\$170.64	\$1,365.12	\$250.00	\$2,000.	
		Remove and Dispose of Ex. Asph. Surface and base							
11 BTOTAL	540 SECTION 1 - SIT	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11)	SY	7,700.00	\$2.38	\$18,326.00 \$270,673.18	\$1.50		
STOTAL	SECTION 1 - SIT	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11)		,		\$270,673.18		\$191,266	
BTOTAL	SECTION 1 - SIT	material (All Depth)	SY	7,700.00	\$2.38 \$171.72		\$1.50 \$175.00	\$191,266	
STOTAL	SECTION 1 - SIT	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry		,		\$270,673.18		\$ 191,266 \$50,750	
TION 2	SECTION 1 - SIT - PAVING 221	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight)	TON	290.00	\$171.72	\$270,673.18 \$49,798.80	\$175.00	\$191,266 \$50,750 \$64,368	
12 13	- PAVING 221 220	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth)	TON SY	290.00 21,456.00	\$171.72 \$2.38	\$270,673.18 \$49,798.80 \$51,065.28	\$175.00 \$3.00	\$191,266 \$50,750 \$64,368 \$57,900	
12 13 14	- PAVING - 221 - 220 - 223	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth	TON SY TON	290.00 21,456.00 772.00	\$171.72 \$2.38 \$86.40	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80	\$175.00 \$3.00 \$75.00	\$11,550 \$191,266 \$50,750 \$64,368 \$57,900 \$36,000	
12 13 14 15	PAVING 221 220 223 250	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick -	TON SY TON TON	290.00 21,456.00 772.00 360.00	\$171.72 \$2.38 \$86.40 \$102.60	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00	\$175.00 \$3.00 \$75.00 \$100.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000	
12 13 14 15	PAVING 221 220 223 250 324 & 340	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental	TON SY TON TON	290.00 21,456.00 772.00 360.00 112.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440 \$878,220	
12 13 14 15 16	PAVING 221 220 223 250 324 & 340 360	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) &	TON SY TON TON TON SY	290.00 21,456.00 772.00 360.00 112.00 19,516.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76 \$42.25	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12 \$824,551.00	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00 \$45.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440 \$878,220 \$602.5	
12 13 14 15 16 17	PAVING 221 220 223 250 324 & 340 360 310	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY	TON SY TON TON TON SY GAL	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76 \$42.25 \$5.40	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12 \$824,551.00 \$1,301.40	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00 \$45.00 \$2.50	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440	
12 13 14 15 16 17 18	PAVING 221 220 223 250 324 & 340 360 310 360	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs	TON SY TON TON TON SY GAL SY LF	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76 \$42.25 \$5.40 \$72.90	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12 \$824,551.00 \$1,301.40 \$1,312.20	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00 \$45.00 \$2.50 \$90.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440 \$878,220 \$602.5 \$1,620.	
12 13 14 15 16 17 18 19 20 21	221 220 223 250 324 & 340 360 310 360 530 360	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs Tie to Existing Concrete Pavement	TON SY TON TON TON SY GAL SY LF LF	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00 13,380.00 264.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76 \$42.25 \$5.40 \$72.90 \$2.38 \$8.10	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12 \$824,551.00 \$1,301.40 \$1,312.20 \$31,844.40 \$2,138.40	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00 \$45.00 \$2.50 \$90.00 \$2.50 \$9.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440 \$878,220 \$602.5 \$1,620. \$33,450 \$2,376.	
12 13 14 15 16 17 18 19 20 21 22	221 220 223 250 324 & 340 360 310 360 530 360 530	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs Tie to Existing Concrete Pavement 7" Thick Reinforced Concrete Driveway	TON SY TON TON SY GAL SY LF LF SY	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00 13,380.00 264.00 112.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76 \$42.25 \$5.40 \$72.90 \$2.38 \$8.10 \$64.80	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12 \$824,551.00 \$1,301.40 \$1,312.20 \$31,844.40 \$2,138.40 \$7,257.60	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00 \$45.00 \$2.50 \$90.00 \$2.50 \$9.00 \$70.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440 \$878,220 \$602.5 \$1,620. \$33,450 \$2,376. \$7,840.	
12 13 14 15 16 17 18 19 20 21	221 220 223 250 324 & 340 360 310 360 530 360	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs Tie to Existing Concrete Pavement	TON SY TON TON TON SY GAL SY LF LF	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00 13,380.00 264.00	\$171.72 \$2.38 \$86.40 \$102.60 \$104.76 \$42.25 \$5.40 \$72.90 \$2.38 \$8.10	\$270,673.18 \$49,798.80 \$51,065.28 \$66,700.80 \$36,936.00 \$11,733.12 \$824,551.00 \$1,301.40 \$1,312.20 \$31,844.40 \$2,138.40	\$175.00 \$3.00 \$75.00 \$100.00 \$120.00 \$45.00 \$2.50 \$90.00 \$2.50 \$9.00	\$191,266 \$50,750 \$64,368 \$57,900 \$36,000 \$13,440 \$878,220 \$602.5 \$1,620. \$33,450 \$2,376.	

					Allgood Const	ruction Co., Inc.	Unitas Cons	truction, Inc.
tem	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures
ION 3 - 9	STORM SEW	/ER						
25	429	Trench Safety Systems, 5' to 10' Depth	LF	3,613.00	\$0.11	\$397.43	\$0.50	\$1,806.50
26	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF	1,025.00	\$55.61	\$57,000.25	\$70.00	\$71,750.00
27	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (36")	LF	35.00	\$94.89	\$3,321.15	\$110.00	\$3,850.00
28	480	Reinfoced Concrete Box, C1433 (All Depths) - (5'x3')	LF	953.00	\$246.59	\$235,000.27	\$265.00	\$252,545.0
29	480	Reinfoced Concrete Box, C1433 (All Depths) - (5'x4')	LF	1,600.00	\$269.56	\$431,296.00	\$300.00	\$480,000.0
30	480	Reinfoced Concrete Box BEND, C1433 (All Depths) - (5'x4')	EA	1.00	\$2,160.00	\$2,160.00	\$5,000.00	\$5,000.00
31	463	Safety End Treatment - Type II, (6:1) (PD-SPR) 36" RCP	EA	1.00	\$2,824.20	\$2,824.20	\$4,500.00	\$4,500.00
32	471	Precast Concrete Standard Manhole (Depth 5-10 Feet)	EA	10.00	\$4,044.60	\$40,446.00	\$2,000.00	\$20,000.0
33	472	Precast Concrete Junction Box	EA	1.00	\$4,357.80	\$4,357.80	\$3,650.00	\$3,650.00
34	472	Precast Concrete Junction Box- TXDOT- Traffic Duty	EA	2.00	\$4,357.80	\$8,715.60	\$5,500.00	\$11,000.0
35	472	Standard Type "C" Inlet	EA	14.00	\$1,641.60	\$22,982.40	\$2,750.00	\$38,500.0
36	472	Standard Type "C" Inlet (MOD), 4" Slope Paving Included	EA	6.00	\$1,344.60	\$8,067.60	\$3,750.00	\$22,500.0
37	472	Convert to Modified Inlet with 4" Slope Paving	EA	2.00	\$1,080.00	\$2,160.00	\$2,250.00	\$4,500.00
38	460	Tie to Exist. Storm Manhole	EA	1.00	\$378.00	\$378.00	\$1,400.00	\$1,400.00
		TORM SEWER (Bid Items 25 - 38) NTROL PLAN				\$819,106.70		\$921,001.5
39	665	Work Zone Pavement Markings 24" White/Solid (Removable) Furnished- Applied & Removed	LF	24.00	\$3.24	\$77.76	\$3.25	\$78.00
40	665	Work Zone Pavement Markings 4" Yellow/Solid (DBL) (Removable) Furnished- Applied & Removed	LF	4,913.00	\$1.13	\$5,551.69	\$1.30	\$6,386.90
41	665	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished- Applied & Removed	LF	5,366.00	\$0.54	\$2,897.64	\$0.65	\$3,487.90
	696	CSB1 (10) Barrier (Furnish & Install)	LF	165.00	\$60.48	\$9,979.20	\$10.00	\$1,650.00
42						4		
42 43	696	Absorb-16 (Furnish & Install)	EA	1.00	\$810.00	\$810.00	\$5,000.00	\$5,000.00

					Allgood Consti	ruction Co., Inc.	Unitas Construction, Inc.		
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	
CTION 5 -	SIGNING AND	PAVEMENT MARKINGS							
45	624	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	6.00	\$307.80	\$1,846.80	\$350.00	\$2,100.00	
46	660 & 663	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed W/ TY II C-R- Bottons- Furnish & Applied	LF	6,710.00	\$0.83	\$5,569.30	\$0.35	\$2,348.50	
47	660 & 663	REFL. PVMT MRK TYPE I - 12" (Y)- SOLID- W/ TY II C-R MARKERS	LF	120.00	\$4.54	\$544.80	\$7.25	\$870.00	
48	660 & 663	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid W/TY II C-R Marker Botton (W)- Furnish & Applied	LF	300.00	\$2.27	\$681.00	\$7.50	\$2,250.00	
49	660	Reflectorized Pavement Markings Type I (Thermoplastic) 6" White/Solid- Furnish & Applied	LF	560.00	\$0.76	\$425.60	\$1.65	\$924.00	
50	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid- Furnish & Applied	LF	80.00	\$2.43	\$194.40	\$3.25	\$260.00	
51	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid- Furnish & Applied	LF	90.00	\$5.02	\$451.80	\$6.25	\$562.50	
52	660	Reflectorized Pavement Markings Type I 12" Yellow/Solid (Median Nose Curb Paint)- Furnish & Applied	LF	810.00	\$2.16	\$1,749.60	\$1.00	\$810.00	
53	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	EA	7.00	\$124.20	\$869.40	\$150.00	\$1,050.00	
54	660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - Furnish & Applied	EA	7.00	\$127.44	\$892.08	\$140.00	\$980.00	
55	624	Street Name Sign (Ground Mounted)- Furnish & Install	EA	4.00	\$341.01	\$1,364.04	\$60.00	\$240.00	
		GNING AND PAVEMENT MARKINGS (Bid Items 45 - 55)				\$14,588.82		\$12,395.00	
	TRAFFIC SIGNA		LF	CO 00	Ć21F 00	¢10,000,00	¢550.00	¢22.000.00	
56 57	416 618	DRILL SHAFT (SIGN MTS) (54 IN) CONDT (PVC) (SCH 80) (2")	LF LF	60.00 380.00	\$315.00 \$10.50	\$18,900.00 \$3,990.00	\$550.00 \$10.25	\$33,000.0 \$3,895.00	
58	618	CONDT (PVC) (SCH 80) (2) CONDT (PVC) (SCH 80) (4")	LF	40.00	\$10.50	\$840.00	\$10.25	\$1,070.00	
59	620	ELEC CONDR (NO.4) BARE	LF	395.00	\$1.58	\$624.10	\$20.75	\$1,070.00	
60	620	ELEC CONDR (NO.4) INSULATED	LF	1,165.00	\$1.58	\$1,840.70	\$2.10	\$2,446.50	
61	621	TRAY CABLE (4 CONDR) (12 AWG)	LF	430.00	\$1.89	\$812.70	\$2.20	\$946.00	
62	624	GROUND BOX TY D (162922) W/APRON	EA	1.00	\$1,260.00	\$1,260.00	\$1,305.00	\$1,305.00	
63	625	ZINC-COAT STL WIRE STRAND (1/4")	LF	558.00	\$3.15	\$1,757.70	\$1.50	\$837.00	
64	625	ZINC-COAT STL WIRE STRAND (5/16")	LF	910.00	\$4.20	\$3,822.00	\$1.75	\$1,592.50	
65	628	ELC SRV TY D 120/240 070 (NS) SS (E) SP (O) W/ PHOTO CELL	EA	1.00	\$6,195.00	\$6,195.00	\$4,350.00	\$4,350.00	

					Allgood Consti	ruction Co., Inc.	Unitas Cons	truction, Inc.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures
66	636	ALUMINUM SIGNS (TY A)	SF	64.00	\$33.80	\$2,163.20	\$20.00	\$1,280.00
67	644	REMOVE SM RD SN SUP & AM	EA	2.00	\$70.20	\$140.40	\$75.00	\$150.00
68	644	INS SM RD SN SUP & AM TY 10 BWG (1) SA (T-EXAL) (W1- 7, LEFT & RIGHT ARROW, 48"X24")	EA	1.00	\$534.60	\$534.60	\$450.00	\$450.00
69	666	REFL PAV MRK TY I (W) 6" (DOT) (100MIL)	LF	32.00	\$0.87	\$27.84	\$0.60	\$19.20
70	666	REFL PAV MRK TY I (W) 24" (SLD) (100MIL)	LF	34.00	\$5.67	\$192.78	\$4.25	\$144.50
71	666	REFL PAV MRK TY I (Y) 4" (SLD) (100MIL)	LF	410.00	\$0.59	\$241.90	\$0.50	\$205.00
72	666	PAVEMENT SEALER 4"	LF	410.00	\$0.09	\$36.90	\$0.10	\$41.00
73	666	PAVEMENT SEALER 6"	LF	32.00	\$0.11	\$3.52	\$0.15	\$4.80
74	666	PAVEMENT SEALER 24"	LF	34.00	\$0.32	\$10.88	\$2.00	\$68.00
75	672	REFL PAV MRKR TY II-A-A	EA	24.00	\$4.32	\$103.68	\$4.25	\$102.00
76	677	ELIM EXT PAV MRK & MRKS (4")	LF	60.00	\$0.49	\$29.40	\$0.50	\$30.00
77	678	PAV SURF PREP FOR MRK (4")	LF	410.00	\$0.09	\$36.90	\$0.01	\$4.10
78	678	PAV SURF PREP FOR MRK (6")	LF	32.00	\$0.11	\$3.52	\$0.01	\$0.32
79	678	PAV SURF PREP FOR MRK (24")	LF	34.00	\$0.32	\$10.88	\$0.01	\$0.34
80	680	INSTALL HWY TRF SIG (SYSTEM) (NEMA TS-2 CONTROLLER) W/CONTROL CABINET (GRND MNT)	EA	1.00	\$39,709.95	\$39,709.95	\$35,000.00	\$35,000.00
81	682	VEH SIG SEC (12") LED (GRN)	EA	8.00	\$262.50	\$2,100.00	\$220.00	\$1.760.00
82	682	VEH SIG SEC (12") LED (GRN ARW)	EA	2.00	\$262.50	\$525.00	\$220.00	\$440.00
83	682	VEH SIG SEC (12") LED (YEL)	EA	8.00	\$262.50	\$2,100.00	\$220.00	\$1,760.00
84	682	VEH SIG SEC (12") LED (RED)	EA	8.00	\$262.50	\$2,100.00	\$220.00	\$1,760.00
85	682	BACK PLATE (12") (3 SEC)	EA	6.00	\$84.00	\$504.00	\$120.00	\$720.00
86	682	BACK PLATE (12") (4 SEC)	EA	2.00	\$105.00	\$210.00	\$130.00	\$260.00
87	684	TRF SIG CBL (TY A) (12 AWG) (7 CONDR)	LF	855.00	\$2.63	\$2,248.65	\$2.75	\$2,351.25
88	686	INS TRAF SIG PL AM (S) STR (TY D) (34')	EA	2.00	\$6,615.00	\$13,230.00	\$9,000.00	\$18,000.00
89	686	INS TRAF SIG PL AM (S) STR (TY D) (34') W/ LUM	EA	2.00	\$7,140.00	\$14,280.00	\$10,000.00	\$20,000.00
90	690	INSTALL OF FND FOR GROUND MNT CABINETS	EA	1.00	\$2,625.00	\$2,625.00	\$2,100.00	\$2,100.00
91	690	REMOVED - (NOT USED)	EA	0.00	72,023.00	\$0.00	72,100.00	\$0.00
92	690	REMOVED - (NOT USED)	EA	0.00		\$0.00		\$0.00
93	2143	COUNTY GPS SERIAL COMMUNICATIONS MODULE	EA	1.00	\$420.00	\$420.00	\$800.00	\$800.00
94	6025	RADAR PRESENCE DETECTOR	EA	4.00	\$6,825.00	\$27,300.00	\$7,500.00	\$30.000.00
95	6057	RADAR ADVANCED DETECTION DEVIDE	EA	2.00	\$7,140.00	\$14,280.00	\$7,500.00	\$15,000.00
96	Preemption Specs	AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM	EA	1.00	\$2,205.00	\$2,205.00	\$3,100.00	\$3,100.00
97	Preemption Specs	HIGH GAIN ANTENNA KIT	EA	1.00	\$336.00	\$336.00	\$1,400.00	\$1,400.00
98	Preemption Specs	GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	EA	1.00	\$598.50	\$598.50	\$1,600.00	\$1,600.00
99	Preemption Specs	CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	EA	1.00	\$2,625.00	\$2,625.00	\$3,500.00	\$3,500.00
100	Preemption Specs	AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM	EA	3.00	\$2,835.00	\$8,505.00	\$3,000.00	\$9,000.00
101	Preemption Specs	GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	EA	3.00	\$609.00	\$1,827.00	\$875.00	\$2,625.00
102	Preemption Specs	CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	EA	3.00	\$2,625.00	\$7,875.00	\$2,800.00	\$8,400.00
IRTOTAL	SECTION 6 - TR	AFFIC SIGNAL (Bid Items 56 - 102)				\$189,182.70		\$212,327.26

					Allgood Consti	ruction Co., Inc.	Unitas Cons	truction, Inc.
ltem	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures
TION 7 - 9	STORM WAT	ER POLLUTION PREVENTION PLAN						
103	162	Sodding for Erosion Control (various widths)	SY	1,985.00	\$3.51	\$6,967.35	\$3.75	\$7,443.7
104	165	Hydro-mulch Seeding (For Erosion Control & Stabilization)	AC	3.53	\$1,350.00	\$4,765.50	\$1,300.00	\$4,589.0
105	700	TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees (Contractor's NOI Fee & Harris County's NOI Fee, Each Fee shall be set price of \$325.00)	EA	1.00	\$325.00	\$325.00	\$325.00	\$325.00
106	713	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	LF	200.00	\$1.35	\$270.00	\$1.65	\$330.0
107	719	Inlet Protection Barrier (Stage 1, with Reinforced Filter Fabric Fence; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	39.00	\$48.60	\$1,895.40	\$145.00	\$5,655.0
108	750	Rock Filter Dam- TY 4 (Furnish, Install & Remove)	LF	30.00	\$27.00	\$810.00	\$55.00	\$1,650.0
109	724	Stabilized Construction Access (Type 1-Rock; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	SY	267.00	\$10.80	\$2,883.60	\$25.00	\$6,675.0
110	730	Concrete Truck Washout Structures (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	1.00	\$864.00	\$864.00	\$500.00	\$500.0
111	741	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	26.00	\$10.80	\$280.80	\$100.00	\$2,600.0
112	751	SWPPP Inspection and Maintenance (Min. Bid - \$6,000/Month)	МО	6.00	\$6,000.00	\$36,000.00	\$6,000.00	\$36,000.

	Allgood Construction Co., Inc.	Unitas Construction, Inc.
SUBTOTAL SECTION 1 - SITE PREPARATION AND EARTHWORK (Bid Items 1 - 11)	\$270,673.18	\$191,266.19
SUBTOTAL SECTION 2 - PAVING (Bid Items 12 - 24)	\$1,091,659.00	\$1,153,066.50
SUBTOTAL SECTION 3 - STORM SEWER (Bid Items 25 - 38)	\$819,106.70	\$921,001.50
SUBTOTAL SECTION 4 - TRAFFIC CONTROL PLAN (Bid Items 39 - 44)	\$21,098.29	\$18,252.80
SUBTOTAL SECTION 5 - SIGNING AND PAVEMENT MARKINGS (Bid Items 45 - 55)	\$14,588.82	\$12,395.00
SUBTOTAL SECTION 6 - TRAFFIC SIGNAL (Bid Items 56 - 102)	\$189,182.70	\$212,327.26
SUBTOTAL SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 103 - 112)	\$55,061.65	\$65,767.75
BASE BID - GRAND TOTAL (Bid Items 1 through 112)	\$2,461,370.34	\$2,574,077.00

Note: Italicized numbers represent mathematical errors.

					Main Lane Ir	ndustries, Ltd	Triple B S	evices, LLP	DVL Enter	prises, LLC
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
FCTION 1 -	SITE PREPARA	ATION AND EARTHWORK								
		Fort Bend County Project Sign (Furnish, Install &			4	4	4	4	4	4
1	DWG	Remove)	EA	2.00	\$1,000.00	\$2,000.00	\$700.00	\$1,400.00	\$1,000.00	\$2,000.00
2	102	Clearing and Grubbing	STA	33.50	\$4,000.00	\$134,000.00	\$375.00	\$12,562.50	\$10,000.00	\$335,000.0
3	110	Excavation to Haul off Inlcuding 4" Striping	CY	7,168.00	\$12.00	\$86,016.00	\$9.65	\$69,171.20	\$10.00	\$71,680.00
4	110	Earthen Swale	LF	2,472.00	\$7.00	\$17,304.00	\$2.10	\$5,191.20	\$10.00	\$24,720.00
5	110	Borrow/Engineered Fill Material	CY	3,300.00	\$13.50	\$44,550.00	\$14.50	\$47,850.00	\$3.00	\$9,900.00
6	434	Abandon Existing 5'x3' RCB (under FM 1463) with Flowable Fill	CY	10.00	\$300.00	\$3,000.00	\$1,375.00	\$13,750.00	\$300.00	\$3,000.00
7	465	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	LF	350.00	\$8.20	\$2,870.00	\$15.50	\$5,425.00	\$20.00	\$7,000.00
8	495	Removing Old Structures - Headwalls	EA	1.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$1,000.00	\$1,000.00
9	495	Removing & Dispose of Existing Fence	LF	260.00	\$1.50	\$390.00	\$3.25	\$845.00	\$1.00	\$260.00
10	500	Remove and Relocate Traffic Signs, Mail Boxes, Roadway Signs	EA	8.00	\$120.00	\$960.00	\$200.00	\$1,600.00	\$10.00	\$80.00
11	540	Remove and Dispose of Ex. Asph. Surface and base material (All Denth)	SY	7,700.00	\$1.00	\$7,700.00	\$3.40	\$26,180.00	\$4.00	\$30,800.00
		material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11)	SY	7,700.00	\$1.00	\$7,700.00 \$300,790.00	\$3.40	\$26,180.00 \$186,174.90	\$4.00	\$30,800.00 \$485,440.0
JBTOTAL	 SECTION 1 - SI	material (All Depth)	SY	7,700.00	\$1.00	' '	\$3.40	' '	\$4.00	
	 SECTION 1 - SI	material (All Depth)	SY	7,700.00	\$1.00 \$165.00	' '	\$3.40 \$165.00	' '	\$4.00 \$170.00	
IBTOTAL	PAVING	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry	-	,		\$300,790.00		\$186,174.90	,	\$485,440.0 \$49,300.00
JBTOTAL : ECTION 2 -	PAVING 221	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight)	TON	290.00	\$165.00	\$300,790.00 \$47,850.00	\$165.00	\$186,174.90 \$47,850.00	\$170.00	\$485,440.0
12 13	PAVING 221 220	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth	TON SY	290.00 21,456.00	\$165.00 \$3.00	\$300,790.00 \$47,850.00 \$64,368.00	\$165.00 \$2.35	\$186,174.90 \$47,850.00 \$50,421.60	\$170.00 \$2.00	\$485,440.0 \$49,300.00 \$42,912.00 \$57,900.00
12 13 14	PAVING 221 220 223	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick -	TON SY TON	290.00 21,456.00 772.00	\$165.00 \$3.00 \$76.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00	\$165.00 \$2.35 \$75.00	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00	\$170.00 \$2.00 \$75.00	\$485,440.00 \$49,300.00 \$42,912.00 \$57,900.00 \$28,800.00
12 13 14 15	PAVING 221 220 223 250	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental)	TON SY TON TON	290.00 21,456.00 772.00 360.00	\$165.00 \$3.00 \$76.00 \$85.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00	\$165.00 \$2.35 \$75.00 \$77.50	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00	\$170.00 \$2.00 \$75.00 \$80.00	\$485,440.0 \$49,300.00 \$42,912.00
12 13 14 15	PAVING 221 220 223 250 324 & 340	material (All Depth) TE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental	TON SY TON TON	290.00 21,456.00 772.00 360.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00	\$485,440.00 \$49,300.00 \$42,912.00 \$57,900.00 \$28,800.00
12 13 14 15 16	PAVING 221 220 223 250 324 & 340 360	material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) &	TON SY TON TON TON SY	290.00 21,456.00 772.00 360.00 112.00 19,516.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00 \$44.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00 \$858,704.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50 \$50.00	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00 \$975,800.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00 \$43.00	\$485,440.00 \$49,300.00 \$42,912.00 \$57,900.00 \$28,800.00 \$16,800.00 \$839,188.00
12 13 14 15 16 17 18	PAVING 221 220 223 250 324 & 340 360 310	material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement	TON SY TON TON TON SY GAL	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00 \$44.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00 \$858,704.00 \$964.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50 \$50.00 \$5.00	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00 \$975,800.00 \$1,205.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00 \$43.00 \$1.00	\$485,440.0 \$49,300.0 \$42,912.0 \$57,900.0 \$28,800.0 \$16,800.0 \$839,188.0 \$241.00
12 13 14 15 16 17 18	PAVING 221 220 223 250 324 & 340 360 310 360	material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs	TON SY TON TON TON SY GAL SY	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00 \$44.00 \$4.00 \$300.00 \$2.50	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00 \$858,704.00 \$964.00 \$5,400.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50 \$50.00 \$5.00 \$150.00	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00 \$975,800.00 \$1,205.00 \$2,700.00 \$52,851.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00 \$43.00 \$1.00 \$100.00	\$485,440.0 \$49,300.0 \$42,912.0 \$57,900.0 \$28,800.0 \$16,800.0 \$1,800.00 \$40,140.0
12 13 14 15 16 17 18 19 20 21	PAVING 221 220 223 250 324 & 340 360 310 360 530 360	material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs Tie to Existing Concrete Pavement	TON SY TON TON TON SY GAL SY LF LF	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00 13,380.00 264.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00 \$44.00 \$300.00 \$2.50 \$30.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00 \$858,704.00 \$964.00 \$5,400.00 \$33,450.00 \$7,920.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50 \$50.00 \$5.00 \$150.00 \$3.95 \$20.50	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00 \$975,800.00 \$1,205.00 \$2,700.00 \$52,851.00 \$5,412.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00 \$43.00 \$1.00 \$100.00 \$3.00 \$10.00	\$485,440.0 \$49,300.0 \$42,912.0 \$57,900.0 \$28,800.0 \$16,800.0 \$39,188.0 \$241.00 \$1,800.00 \$40,140.0 \$2,640.00
12 12 13 14 15 16 17 18 19 20 21 22	PAVING 221 220 223 250 324 & 340 360 310 360 530 360 530	material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs Tie to Existing Concrete Pavement 7" Thick Reinforced Concrete Driveway	TON SY TON TON SY GAL SY LF LF SY	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00 13,380.00 264.00 112.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00 \$44.00 \$4.00 \$300.00 \$2.50 \$30.00 \$90.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00 \$964.00 \$5,400.00 \$33,450.00 \$7,920.00 \$10,080.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50 \$50.00 \$5.00 \$150.00 \$3.95 \$20.50 \$106.00	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00 \$975,800.00 \$1,205.00 \$2,700.00 \$52,851.00 \$5412.00 \$11,872.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00 \$43.00 \$1.00 \$100.00 \$3.00 \$10.00 \$70.00	\$485,440.0 \$49,300.0 \$42,912.0 \$57,900.0 \$28,800.0 \$16,800.0 \$241.00 \$1,800.00 \$40,140.0 \$7,840.00
12 13 14 15 16 17 18 19 20 21	PAVING 221 220 223 250 324 & 340 360 310 360 530 360	material (All Depth) FE PREPARATION AND EARTHWORK (Bid Items 1 - 11) Hydrated Lime or Commercial Lime Slurry (3% by Dry Weight) Lime Stabilized Sub Grade (8" Depth) Fly Ash for Stabilization (8% by Dry Weight) HMAC Base Course (Black Base), 8" Depth (Saw Cut is incidental) HMAC Type "D" Surface Course 2.5" Thick - Seal Coat (0.10 GAL/SY) is incidental Reinforced Concrete Pavement - 8" Depth Prime Coat @ Rate of 0.30 GAL /SY Saw Cut Ex. Pavement (12" Wide) & Tie to Ex. Edge of Pavement 6" Reinforced Concrete Curbs Tie to Existing Concrete Pavement	TON SY TON TON TON SY GAL SY LF LF	290.00 21,456.00 772.00 360.00 112.00 19,516.00 241.00 18.00 13,380.00 264.00	\$165.00 \$3.00 \$76.00 \$85.00 \$115.00 \$44.00 \$300.00 \$2.50 \$30.00	\$300,790.00 \$47,850.00 \$64,368.00 \$58,672.00 \$30,600.00 \$12,880.00 \$858,704.00 \$964.00 \$5,400.00 \$33,450.00 \$7,920.00	\$165.00 \$2.35 \$75.00 \$77.50 \$125.50 \$50.00 \$5.00 \$150.00 \$3.95 \$20.50	\$186,174.90 \$47,850.00 \$50,421.60 \$57,900.00 \$27,900.00 \$14,056.00 \$975,800.00 \$1,205.00 \$2,700.00 \$52,851.00 \$5,412.00	\$170.00 \$2.00 \$75.00 \$80.00 \$150.00 \$43.00 \$1.00 \$100.00 \$3.00 \$10.00	\$485,440.0 \$49,300.0 \$42,912.0 \$57,900.0 \$28,800.0 \$16,800.0 \$39,188.0 \$241.00 \$1,800.00

					Main Lane II	ndustries, Ltd	Triple B S	evices, LLP	DVL Enter	prises, LLC
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
CTION 3 -	STORM SEW	/ER								
25	429	Trench Safety Systems, 5' to 10' Depth	LF	3,613.00	\$2.00	\$7,226.00	\$0.10	\$361.30	\$1.00	\$3,613.00
26	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF	1,025.00	\$100.00	\$102,500.00	\$76.50	\$78,412.50	\$69.00	\$70,725.0
27	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (36")	LF	35.00	\$180.00	\$6,300.00	\$142.00	\$4,970.00	\$200.00	\$7,000.00
28	480	Reinfoced Concrete Box, C1433 (All Depths) - (5'x3')	LF	953.00	\$265.00	\$252,545.00	\$285.00	\$271,605.00	\$246.00	\$234,438.0
29	480	Reinfoced Concrete Box, C1433 (All Depths) - (5'x4')	LF	1,600.00	\$300.00	\$480,000.00	\$302.00	\$483,200.00	\$265.00	\$424,000.0
30	480	Reinfoced Concrete Box BEND, C1433 (All Depths) - (5'x4')	EA	1.00	\$3,000.00	\$3,000.00	\$485.00	\$485.00	\$500.00	\$500.00
31	463	Safety End Treatment - Type II, (6:1) (PD-SPR) 36" RCP	EA	1.00	\$4,500.00	\$4,500.00	\$3,150.00	\$3,150.00	\$4,000.00	\$4,000.00
32	471	Precast Concrete Standard Manhole (Depth 5-10 Feet)	EA	10.00	\$2,000.00	\$20,000.00	\$2,345.00	\$23,450.00	\$4,000.00	\$40,000.0
33	472	Precast Concrete Junction Box	EA	1.00	\$6,500.00	\$6,500.00	\$6,050.00	\$6,050.00	\$4,000.00	\$4,000.00
34	472	Precast Concrete Junction Box- TXDOT- Traffic Duty	EA	2.00	\$7,000.00	\$14,000.00	\$6,075.00	\$12,150.00	\$4,000.00	\$8,000.00
35	472	Standard Type "C" Inlet	EA	14.00	\$3,000.00	\$42,000.00	\$2,590.00	\$36,260.00	\$3,000.00	\$42,000.0
36	472	Standard Type "C" Inlet (MOD), 4" Slope Paving Included	EA	6.00	\$4,500.00	\$27,000.00	\$2,625.00	\$15,750.00	\$4,000.00	\$24,000.0
37	472	Convert to Modified Inlet with 4" Slope Paving	EA	2.00	\$3,200.00	\$6,400.00	\$1,125.00	\$2,250.00	\$4,000.00	\$8,000.00
38	460	Tie to Exist. Storm Manhole	EA	1.00	\$1,000.00	\$1,000.00	\$725.00	\$725.00	\$1,000.00	\$1,000.00
BTOTAL	SECTION 3 - S	TORM SEWER (Bid Items 25 - 38)				\$972,971.00		\$938,818.80		\$871,276.0
CTION 4 -	TRAFFIC CO				1	_		, ,		
39	665	Work Zone Pavement Markings 24" White/Solid (Removable) Furnished- Applied & Removed	LF	24.00	\$3.00	\$72.00	\$3.50	\$84.00	\$1.00	\$24.00
40	665	Work Zone Pavement Markings 4" Yellow/Solid (DBL) (Removable) Furnished- Applied & Removed	LF	4,913.00	\$1.25	\$6,141.25	\$1.25	\$6,141.25	\$1.00	\$4,913.00
41	665	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished- Applied & Removed	LF	5,366.00	\$0.62	\$3,326.92	\$0.60	\$3,219.60	\$0.50	\$2,683.00
42	696	CSB1 (10) Barrier (Furnish & Install)	LF	165.00	\$22.00	\$3,630.00	\$80.00	\$13,200.00	\$35.00	\$5,775.00
43	696	Absorb-16 (Furnish & Install)	EA	1.00	\$6,000.00	\$6,000.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
44	696	CSB1 (10) Barrier & Absorb-16 (Remove)	LF	165.00	\$22.00	\$3,630.00	\$16.00	\$2,640.00	\$10.00	\$1,650.0
BTOTAL	SECTION 4 - T	RAFFIC CONTROL PLAN (Bid Items 39 - 44)	•			\$22,800.17		\$40,284.85		\$20,045.0

					Main Lane II	ndustries, Ltd	Triple B S	evices, LLP	DVL Enter	prises, LLC
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
SECTION 5 -	SIGNING AND	PAVEMENT MARKINGS		•	•	,	1			
45	624	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	6.00	\$330.00	\$1,980.00	\$350.00	\$2,100.00	\$350.00	\$2,100.00
46	660 & 663	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed W/ TY II C-R- Bottons- Furnish & Applied	LF	6,710.00	\$0.34	\$2,281.40	\$1.00	\$6,710.00	\$0.62	\$4,160.20
47	660 & 663	REFL. PVMT MRK TYPE I - 12" (Y)- SOLID- W/ TY II C-R MARKERS	LF	120.00	\$7.00	\$840.00	\$0.60	\$72.00	\$1.00	\$120.00
48	660 & 663	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid W/TY II C-R Marker Botton (W)- Furnish & Applied	LF	300.00	\$7.25	\$2,175.00	\$2.50	\$750.00	\$3.00	\$900.00
49	660	Reflectorized Pavement Markings Type I (Thermoplastic) 6" White/Solid- Furnish & Applied	LF	560.00	\$1.55	\$868.00	\$0.85	\$476.00	\$2.00	\$1,120.00
50	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid- Furnish & Applied	LF	80.00	\$3.00	\$240.00	\$2.75	\$220.00	\$5.00	\$400.00
51	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid- Furnish & Applied	LF	90.00	\$5.80	\$522.00	\$5.75	\$517.50	\$10.00	\$900.00
52	660	Reflectorized Pavement Markings Type I 12" Yellow/Solid (Median Nose Curb Paint)- Furnish & Applied	LF	810.00	\$0.90	\$729.00	\$2.50	\$2,025.00	\$6.00	\$4,860.00
53	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	EA	7.00	\$140.00	\$980.00	\$140.00	\$980.00	\$200.00	\$1,400.00
54	660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - Furnish & Applied	EA	7.00	\$130.00	\$910.00	\$145.00	\$1,015.00	\$200.00	\$1,400.00
55	624	Street Name Sign (Ground Mounted)- Furnish & Install	EA	4.00	\$55.00	\$220.00	\$385.00	\$1,540.00	\$300.00	\$1,200.00
	TRAFFIC SIGN	GNING AND PAVEMENT MARKINGS (Bid Items 45 - 55)				\$11,745.40		\$16,405.50		\$18,560.20
56	416	DRILL SHAFT (SIGN MTS) (54 IN)	LF	60.00	\$300.00	\$18,000.00	\$365.00	\$21,900.00	\$1.00	\$60.00
57	618	CONDT (PVC) (SCH 80) (2")	LF	380.00	\$10.00	\$3,800.00	\$12.00	\$4,560.00	\$8.00	\$3,040.00
58	618	CONDT (PVC) (SCH 80) (4")	LF	40.00	\$20.00	\$800.00	\$24.50	\$980.00	\$9.00	\$360.00
59	620	ELEC CONDR (NO.4) BARE	LF	395.00	\$1.50	\$592.50	\$1.85	\$730.75	\$2.00	\$790.00
60	620	ELEC CONDR (NO.4) INSULATED	LF	1,165.00	\$1.50	\$1,747.50	\$1.85	\$2,155.25	\$2.00	\$2,330.00
61	621	TRAY CABLE (4 CONDR) (12 AWG)	LF	430.00	\$1.80	\$774.00	\$2.20	\$946.00	\$3.00	\$1,290.00
62	624	GROUND BOX TY D (162922) W/APRON	EA	1.00	\$1,200.00	\$1,200.00	\$1,475.00	\$1,475.00	\$1,400.00	\$1,400.00
63	625	ZINC-COAT STL WIRE STRAND (1/4")	LF	558.00	\$3.00	\$1,674.00	\$3.65	\$2,036.70	\$2.00	\$1,116.00
64	625	ZINC-COAT STL WIRE STRAND (5/16")	LF	910.00	\$4.00	\$3,640.00	\$5.00	\$4,550.00	\$2.00	\$1,820.00
65	628	ELC SRV TY D 120/240 070 (NS) SS (E) SP (O) W/ PHOTO CELL	EA	1.00	\$5,900.00	\$5,900.00	\$7,250.00	\$7,250.00	\$4,500.00	\$4,500.00

					Main Lane II	ndustries, Ltd	Triple B S	evices, LLP	DVL Enter	prises, LLC
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
66	636	ALUMINUM SIGNS (TY A)	SF	64.00	\$60.00	\$3,840.00	\$40.50	\$2,592.00	\$33.00	\$2,112.0
67	644	REMOVE SM RD SN SUP & AM	EA	2.00	\$75.00	\$150.00	\$123.00	\$246.00	\$100.00	\$200.00
68	644	INS SM RD SN SUP & AM TY 10 BWG (1) SA (T-EXAL) (W1-7, LEFT & RIGHT ARROW, 48"X24")	EA	1.00	\$450.00	\$450.00	\$550.00	\$550.00	\$300.00	\$300.00
69	666	REFL PAV MRK TY I (W) 6" (DOT) (100MIL)	LF	32.00	\$0.55	\$17.60	\$1.00	\$32.00	\$5.00	\$160.00
70	666	REFL PAV MRK TY I (W) 24" (SLD) (100MIL)	LF	34.00	\$4.00	\$136.00	\$6.50	\$221.00	\$10.00	\$340.00
71	666	REFL PAV MRK TY I (Y) 4" (SLD) (100MIL)	LF	410.00	\$0.45	\$184.50	\$0.75	\$307.50	\$1.00	\$410.0
72	666	PAVEMENT SEALER 4"	LF	410.00	\$0.10	\$41.00	\$0.10	\$41.00	\$1.00	\$410.0
73	666	PAVEMENT SEALER 6"	LF	32.00	\$0.15	\$4.80	\$0.15	\$4.80	\$1.00	\$32.00
74	666	PAVEMENT SEALER 24"	LF	34.00	\$1.80	\$61.20	\$0.50	\$17.00	\$1.00	\$34.00
75	672	REFL PAV MRKR TY II-A-A	EA	24.00	\$4.00	\$96.00	\$5.00	\$120.00	\$5.00	\$120.0
76	677	ELIM EXT PAV MRK & MRKS (4")	LF	60.00	\$0.50	\$30.00	\$0.55	\$33.00	\$5.00	\$300.0
77	678	PAV SURF PREP FOR MRK (4")	LF	410.00	\$0.01	\$4.10	\$0.10	\$41.00	\$1.00	\$410.0
78	678	PAV SURF PREP FOR MRK (6")	LF	32.00	\$0.01	\$0.32	\$0.15	\$4.80	\$1.00	\$32.0
79	678	PAV SURF PREP FOR MRK (24")	LF	34.00	\$0.01	\$0.34	\$0.50	\$17.00	\$1.00	\$34.0
80	680	INSTALL HWY TRF SIG (SYSTEM) (NEMA TS-2 CONTROLLER) W/CONTROL CABINET (GRND MNT)	EA	1.00	\$37,819.00	\$37,819.00	\$46,500.00	\$46,500.00	\$68,000.00	\$68,000
81	682	VEH SIG SEC (12") LED (GRN)	EA	8.00	\$250.00	\$2,000.00	\$305.00	\$2,440.00	\$33.00	\$264.0
82	682	VEH SIG SEC (12") LED (GRN ARW)	EA	2.00	\$250.00	\$500.00	\$305.00	\$610.00	\$210.00	\$420.0
83	682	VEH SIG SEC (12") LED (YEL)	EA	8.00	\$250.00	\$2,000.00	\$305.00	\$2,440.00	\$200.00	\$1,600.
84	682	VEH SIG SEC (12") LED (RED)	EA	8.00	\$250.00	\$2,000.00	\$305.00	\$2,440.00	\$200.00	\$1,600.
85	682	BACK PLATE (12") (3 SEC)	EA	6.00	\$80.00	\$480.00	\$100.00	\$600.00	\$110.00	\$660.0
86	682	BACK PLATE (12") (4 SEC)	EA	2.00	\$100.00	\$200.00	\$123.00	\$246.00	\$120.00	\$240.0
87	684	TRF SIG CBL (TY A) (12 AWG) (7 CONDR)	LF	855.00	\$2.50	\$2,137.50	\$3.00	\$2,565.00	\$3.00	\$2,565
88	686	INS TRAF SIG PL AM (S) STR (TY D) (34')	EA	2.00	\$6,300.00	\$12,600.00	\$7,750.00	\$15,500.00	\$7,000.00	\$14,000
89	686	INS TRAF SIG PL AM (S) STR (TY D) (34') W/ LUM	EA	2.00	\$6,800.00	\$13,600.00	\$8,350.00	\$16,700.00	\$7,000.00	\$14,000
90	690	INSTALL OF FND FOR GROUND MNT CABINETS	EA	1.00	\$2,500.00	\$2,500.00	\$3,075.00	\$3,075.00	\$400.00	\$400.0
91	690	REMOVED - (NOT USED)	EA	0.00	ψ2)300.00	\$0.00	ψ3,073.00	\$0.00	φ 100100	\$0.00
92	690	REMOVED - (NOT USED)	EA	0.00		\$0.00		\$0.00		\$0.00
93	2143	COUNTY GPS SERIAL COMMUNICATIONS MODULE	EA	1.00	\$400.00	\$400.00	\$500.00	\$500.00	\$400.00	\$400.0
94	6025	RADAR PRESENCE DETECTOR	EA	4.00	\$6,500.00	\$26,000.00	\$8,000.00	\$32,000.00	\$7,000.00	\$28,000
95	6057	RADAR ADVANCED DETECTION DEVIDE	EA	2.00	\$6,800.00	\$13,600.00	\$8,350.00	\$16,700.00	\$9,000.00	\$18,000
96	Preemption Specs	AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM	EA	1.00	\$2,100.00	\$2,100.00	\$2,575.00	\$2,575.00	\$2,200.00	\$2,200.
97	Preemption Specs	HIGH GAIN ANTENNA KIT	EA	1.00	\$320.00	\$320.00	\$400.00	\$400.00	\$410.00	\$410.0
98		GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	EA	1.00	\$570.00	\$570.00	\$700.00	\$700.00	\$2,500.00	\$2,500.
99		CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	EA	1.00	\$2,500.00	\$2,500.00	\$3,100.00	\$3,100.00	\$4,500.00	\$4,500.
100	Preemption Specs	AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM	EA	3.00	\$2,700.00	\$8,100.00	\$3,320.00	\$9,960.00	\$3,000.00	\$9,000.
101	Specs	GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	EA	3.00	\$580.00	\$1,740.00	\$710.00	\$2,130.00	\$2,500.00	\$7,500.
102	Preemption	CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	EA	3.00	\$2,500.00	\$7,500.00	\$3,100.00	\$9,300.00	\$4,500.00	\$13,500
		AFFIC SIGNAL (Bid Items 56 - 102)				\$181.810.36		\$221,291,80		\$211.3

SUBTOTAL SECTION 6 - TRAFFIC SIGNAL (Bid Items 56 - 102)

\$181,810.36

\$221,291.80

\$211,359.00

					Main Lane Ir	ndustries, Ltd	Triple B Se	evices, LLP	DVL Enterprises, LLC	
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
CT1011 T		ED DOLLUTION DEFINENTION DI ANI								
103	162	ER POLLUTION PREVENTION PLAN Sodding for Erosion Control (various widths)	SY	1,985.00	\$3.00	\$5,955.00	\$4.25	\$8,436.25	\$4.00	\$7,940.00
104	165	Hydro-mulch Seeding (For Erosion Control & Stabilization)	AC	3.53	\$1,800.00	\$6,354.00	\$2,250.00	\$7,942.50	\$1,200.00	\$4,236.00
105	700	TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees (Contractor's NOI Fee & Harris County's NOI Fee, Each Fee shall be set price of \$325.00)	EA	1.00	\$650.00	\$650.00	\$400.00	\$400.00	\$400.00	\$400.00
106	713	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	LF	200.00	\$3.00	\$600.00	\$2.00	\$400.00	\$2.00	\$400.00
107	719	Inlet Protection Barrier (Stage 1, with Reinforced Filter Fabric Fence; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	39.00	\$100.00	\$3,900.00	\$125.00	\$4,875.00	\$10.00	\$390.00
108	750	Rock Filter Dam- TY 4 (Furnish, Install & Remove)	LF	30.00	\$75.00	\$2,250.00	\$108.00	\$3,240.00	\$50.00	\$1,500.00
109	724	Stabilized Construction Access (Type 1-Rock; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	SY	267.00	\$25.00	\$6,675.00	\$29.00	\$7,743.00	\$10.00	\$2,670.00
110	730	Concrete Truck Washout Structures (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	1.00	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00	\$500.00	\$500.00
111	741	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	26.00	\$60.00	\$1,560.00	\$30.00	\$780.00	\$10.00	\$260.00
112	751	SWPPP Inspection and Maintenance (Min. Bid - \$6,000/Month)	МО	6.00	\$6,000.00	\$36,000.00	\$6,000.00	\$36,000.00	\$6,000.00	\$36,000.0
JBTOTAL S	SECTION 7 - ST	FORM WATER POLLUTION PREVENTION PLAN (Bid Items 1	03 - 112)			\$65,944.00		\$71,516.75		\$54,296.0

	Main Lane Industries, Ltd	Triple B Sevices, LLP	DVL Enterprises, LLC
SUBTOTAL SECTION 1 - SITE PREPARATION AND EARTHWORK (Bid Items 1 - 11)	\$300,790.00	\$186,174.90	\$485,440.00
SUBTOTAL SECTION 2 - PAVING (Bid Items 12 - 24)	\$1,135,888.00	\$1,259,967.60	\$1,092,661.00
SUBTOTAL SECTION 3 - STORM SEWER (Bid Items 25 - 38)	\$972,971.00	\$938,818.80	\$871,276.00
SUBTOTAL SECTION 4 - TRAFFIC CONTROL PLAN (Bid Items 39 - 44)	\$22,800.17	\$40,284.85	\$20,045.00
SUBTOTAL SECTION 5 - SIGNING AND PAVEMENT MARKINGS (Bid Items 45 - 55)	\$11,745.40	\$16,405.50	\$18,560.20
SUBTOTAL SECTION 6 - TRAFFIC SIGNAL (Bid Items 56 - 102)	\$181,810.36	\$221,291.80	\$211,359.00
SUBTOTAL SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 103 - 112)	\$65,944.00	\$71,516.75	\$54,296.00

\$2,691,948.93

\$2,734,460.20

\$2,753,637.20

Note: Italicized numbers represent mathematical errors.

BASE BID - GRAND TOTAL (Bid Items 1 through 112)

					FUSED II	ndustries
Item	Spec.	Item	Unit	Unit	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures
CTION 1 -	SITE PREPAR	RATION AND EARTHWORK	•			
1	DWG	Fort Bend County Project Sign (Furnish, Install & Remove)	EA	2.00	\$1,050.00	\$2,100.0
2	102	Clearing and Grubbing	STA	33.50	\$1,650.00	\$55,275.
3	110	Excavation to Haul off Inlcuding 4" Striping	CY	7,168.00	\$6.00	\$43,008.
4	110	Earthen Swale	LF	2,472.00	\$3.00	\$7,416.0
5	110	Borrow/Engineered Fill Material	CY	3,300.00	\$11.00	\$36,300.
6	434	Abandon Existing 5'x3' RCB (under FM 1463) with Flowable Fill	CY	10.00	\$627.00	\$6,270.0
7	465	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	LF	350.00	\$10.00	\$3,500.0
8	495	Removing Old Structures - Headwalls	EA	1.00	\$1,800.00	\$1,800.0
9	495	Removing & Dispose of Existing Fence	LF	260.00	\$8.00	\$2,080.0
10	500	Remove and Relocate Traffic Signs, Mail Boxes, Roadway Signs	EA	8.00	\$315.00	\$2,520.0
11	540	Remove and Dispose of Ex. Asph. Surface and base material (All Depth)	SY	7,700.00	\$3.60	\$27,720.
BTOTAL S	ECTION 1 - S	ITE PREPARATION AND EARTHWORK (Bid Items 1 - 11)				\$187,989

SECTION 2 - PAVING

12	221	Weight)	TON	290.00	\$211.00	\$61,190.00
13	220	Lime Stabilized Sub Grade (8" Depth)	SY	21,456.00	\$3.00	\$64,368.00
14	223	Fly Ash for Stabilization (8% by Dry Weight)	TON	772.00	\$85.00	\$65,620.00
15	250	HMAC Base Course (Black Base), 8" Depth	TON	360.00	\$102.00	\$36,720.00
13	230	(Saw Cut is incidental)	1011	300.00	Ç102.00	730,720.00
16	324 & 340	HMAC Type "D" Surface Course 2.5" Thick -	TON	112.00	\$170.00	\$19,040.00
10	324 & 340	Seal Coat (0.10 GAL/SY) is incidental	TON	112.00	\$170.00	\$19,040.00
17	360	Reinforced Concrete Pavement - 8" Depth	SY	19,516.00	\$58.00	\$1,131,928.00
18	310	Prime Coat @ Rate of 0.30 GAL /SY	GAL	241.00	\$3.90	\$939.90
19	360	Saw Cut Ex. Pavement (12" Wide) &	SY	18.00	\$74.00	\$1,332.00
19	300	Tie to Ex. Edge of Pavement	31	18.00	\$74.00	\$1,332.00
20	530	6" Reinforced Concrete Curbs	LF	13,380.00	\$5.00	\$66,900.00
21	360	Tie to Existing Concrete Pavement	LF	264.00	\$20.00	\$5,280.00
22	530	7" Thick Reinforced Concrete Driveway	SY	112.00	\$82.00	\$9,184.00
23	535	Esplanades, Medians, and Directional Islands (6")	SY	100.00	\$78.00	\$7,800.00
24	536	Coloring of Concrete (Black) in Median Noses	SY	100.00	\$65.00	\$6,500.00

SUBTOTAL SECTION 2 - PAVING (Bid Items 12 - 24)

\$1,476,801.90

Reconstruction of Crossover Road (Project No. 13307, Bid No. 18-070)

Bid	Date:	5/	'29,	/18
-----	-------	----	------	-----

					FUSED I	ndustries
Item	Spec.	Item	Unit	Unit	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures
TION 3 - S	STORM SEW	'ER				
25	429	Trench Safety Systems, 5' to 10' Depth	LF	3,613.00	\$1.00	\$3,613.00
26	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF	1,025.00	\$68.00	\$69,700.00
27	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (36")	LF	35.00	\$122.00	\$4,270.00
28	480	Reinfoced Concrete Box, C1433 (All Depths) - (5'x3')	LF	953.00	\$274.00	\$261,122.0
29	480	Reinfoced Concrete Box, C1433 (All Depths) - (5'x4')	LF	1,600.00	\$297.00	\$475,200.0
30	480	Reinfoced Concrete Box BEND, C1433 (All Depths) - (5'x4')	EA	1.00	\$2,800.00	\$2,800.00
31	463	Safety End Treatment - Type II, (6:1) (PD-SPR) 36" RCP	EA	1.00	\$4,400.00	\$4,400.00
32	471	Precast Concrete Standard Manhole (Depth 5-10 Feet)	EA	10.00	\$1,900.00	\$19,000.0
33	472	Precast Concrete Junction Box	EA	1.00	\$4,200.00	\$4,200.00
34	472	Precast Concrete Junction Box- TXDOT- Traffic Duty	EA	2.00	\$6,200.00	\$12,400.0
35	472	Standard Type "C" Inlet	EA	14.00	\$2,900.00	\$40,600.0
36	472	Standard Type "C" Inlet (MOD), 4" Slope Paving Included	EA	6.00	\$5,100.00	\$30,600.0
37	472	Convert to Modified Inlet with 4" Slope Paving	EA	2.00	\$3,400.00	\$6,800.0
38	460	Tie to Exist. Storm Manhole	EA	1.00	\$8,000.00	\$8,000.00

SECTION 4 - TRAFFIC CONTROL PLAN

39	39 665	Work Zone Pavement Markings 24" White/Solid	LF	24.00	\$4.00	\$96.00
33	003	(Removable) Furnished- Applied & Removed	Li	24.00		\$90.00
40	665	Work Zone Pavement Markings 4" Yellow/Solid (DBL)	LF	4.913.00	\$1.65	\$8,106.45
40	003	(Removable) Furnished- Applied & Removed	LF	4,913.00	\$1.05	\$6,100.45
41	665	Work Zone Pavement Markings 4" White/Solid	LF	5.366.00	\$1.00	\$5,366.00
41	003	(Removable) Furnished- Applied & Removed	LF	3,300.00	\$1.00	\$3,300.00
42	696	CSB1 (10) Barrier (Furnish & Install)	LF	165.00	\$75.00	\$12,375.00
43	696	Absorb-16 (Furnish & Install)	EA	1.00	\$600.00	\$600.00
44	696	CSB1 (10) Barrier & Absorb-16 (Remove)	LF	165.00	\$10.00	\$1,650.00

SUBTOTAL SECTION 4 - TRAFFIC CONTROL PLAN (Bid Items 39 - 44)

\$28,193.45

					FUSED II	ndustries
Item	Spec.	Item	Unit	Unit	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures
CTION 5 -	SIGNING AND	PAVEMENT MARKINGS				
45	624	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	6.00	\$436.00	\$2,616.00
46	660 & 663	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed W/ TY II C-R- Bottons- Furnish & Applied	LF	6,710.00	\$0.50	\$3,355.00
47	660 & 663	REFL. PVMT MRK TYPE I - 12" (Y)- SOLID- W/ TY II C-R MARKERS	LF	120.00	\$9.00	\$1,080.00
48	660 & 663	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid W/TY II C-R Marker Botton (W)- Furnish & Applied	LF	300.00	\$9.00	\$2,700.00
49	660	Reflectorized Pavement Markings Type I (Thermoplastic) 6" White/Solid- Furnish & Applied	LF	560.00	\$2.00	\$1,120.00
50	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid- Furnish & Applied	LF	80.00	\$3.30	\$264.00
51	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid- Furnish & Applied	LF	90.00	\$7.00	\$630.00
52	660	Reflectorized Pavement Markings Type I 12" Yellow/Solid (Median Nose Curb Paint)- Furnish & Applied	LF	810.00	\$1.00	\$810.00
53	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	EA	7.00	\$185.00	\$1,295.00
54	660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - Furnish & Applied	EA	7.00	\$172.00	\$1,204.00
55	624	Street Name Sign (Ground Mounted)- Furnish & Install	EA	4.00	\$72.00	\$288.00
	SECTION 5 - SI	GNING AND PAVEMENT MARKINGS (Bid Items 45 - 55)				\$15,362.0
56	416	DRILL SHAFT (SIGN MTS) (54 IN)	LF	60.00	\$462.00	\$27,720.0
57	618	CONDT (PVC) (SCH 80) (2")	LF	380.00	\$19.00	\$7,220.0
58	618	CONDT (PVC) (SCH 80) (4")	LF	40.00	\$46.00	\$1,840.0
59	620	ELEC CONDR (NO.4) BARE	LF	395.00	\$2.50	\$987.50
60	620	ELEC CONDR (NO.4) INSULATED	LF	1,165.00	\$2.50	\$2,912.5
61	621	TRAY CABLE (4 CONDR) (12 AWG)	LF	430.00	\$2.50	\$1,075.0
62	624	GROUND BOX TY D (162922) W/APRON	EA	1.00	\$1,800.00	\$1,800.0
63	625	ZINC-COAT STL WIRE STRAND (1/4")	LF	558.00	\$3.00	\$1,674.0
64	625	ZINC-COAT STL WIRE STRAND (5/16")	LF	910.00	\$3.00	\$2,730.0
65	628	ELC SRV TY D 120/240 070 (NS) SS (E) SP (O) W/ PHOTO CELL	EA	1.00	\$9,900.00	\$9,900.00

No. No. Description Measure Quantity Price Figures						FUSED II	ndustries
66	Item	Spec.	Item	Unit	Unit	Unit	Total in
F7	No.	No.	Description	Measure	Quantity	Price	Figures
68 644 7, LEFT & RIGHT ARROW, 48"X24") 69 666 REFL PAV MRK TY IV (W) 6" (DOT) (100MIL) LF 32.00 \$1.00 \$32.00 70 666 REFL PAV MRK TY IV (W) 6" (DOT) (100MIL) LF 34.00 \$5.00 \$170.00 71 666 REFL PAV MRK TY IV (W) 6" (DOT) (100MIL) LF 34.00 \$5.00 \$170.00 72 666 REFL PAV MRK TY IV (W) 2" (SLD) (100MIL) LF 410.00 \$5.00 \$1070.00 72 666 REFL PAV MRK TY IV (W) 2" (SLD) (100MIL) LF 410.00 \$5.00 \$410.00 73 666 PAVEMENT SEALER (A" LF 410.00 \$0.10 \$410.00 74 666 PAVEMENT SEALER (A" LF 410.00 \$0.10 \$410.00 75 672 REFL PAV MRK TY IV. (A 50.00 \$1.00 \$1.00 \$0.10 \$410.00 76 667 FL LIME XT PAV MRK K MRK (A") LF 32.00 \$0.20 \$5.40 77 678 PAV SURF PREP FOR MRK (A") LF 60.00 \$5.00 \$120.00 77 678 PAV SURF PREP FOR MRK (A") LF 410.00 \$5.00 \$5.00 \$120.00 78 678 PAV SURF PREP FOR MRK (A") LF 410.00 \$5.00 \$5.00 \$120.00 80 680 INSTALL HWY TRF SIG (SYSTEM) (NEMA TS-2 LF 34.00 \$5.00 \$120.00 81 680 CONTROLLER) W/CONTROL CABINET (GRND MNT) EA 1.00 \$42.000.00 \$42.000.00 82 682 VEH SIG SEC (12") LED (GRN) ARW) EA 2.00 \$260.00 \$2.080.00 83 682 VEH SIG SEC (12") LED (GRN) ARW) EA 2.00 \$260.00 \$2.080.00 84 682 VEH SIG SEC (12") LED (GRN) ARW) EA 2.00 \$260.00 \$2.080.00 85 682 BACK PLATE (12") (3 SEC) EA 4.00 \$3.00 \$3.00.00 86 680 INSTALS HWY TRF SIG (SYSTEM) (NEMA TS-2 LF 4.00 \$3.00 \$3.00.00 \$3.00.00 87 684 BACK PLATE (12") (3 SEC) EA 4.00 \$3.00 \$3.00.00 \$3.00.00 88 680 SAC PLATE (12") (3 SEC) EA 4.00 \$3.00 \$3.00.00 \$3.00.00 89 680 INSTALS FIGH PRO FOR GROUND MIT CABINETS EA 6.00 \$3.00.00 \$3.00.00 89 680 INSTALS FIGH PRO FOR GROUND MIT CABINETS EA 6.00 \$3.00.00 \$3.00.00 89 680 INSTALS FIGH PRO FOR GROUND MIT CABINETS EA 6.00 \$3.00.00 \$3.00.00 89 680 INSTALS FIGH PRO FOR GROUND MIT CABINETS EA 6.00 \$3.00.00 \$3.00.00 \$3.00.00 89 680 INSTAR SIG PLAM (S) STR (TY D) (34") EA 2.00 \$3.00.00 \$3.00.00 \$3.00.00 89 680 INSTAR SIG PLAM (S) STR (TY D) (34") EA 2.00 \$3.00.00 \$3.00.00 \$3.00.00 99 690 REMOVED - (NOT USED) EA 6.00 \$3.00.00 \$3.00.00 \$3.00.00 99 FOR EMPOTED OF THE CERU FRO FOR THE PROPRITY SYSTEM EA 1.00 \$3.00.00 \$3.00.00 \$3.00.00 99 FOR EMPOTED OF TH	66	636	ALUMINUM SIGNS (TY A)	SF	64.00	\$79.00	\$5,056.00
S984.00 S994.00 S999.00 S999	67	644		EA	2.00	\$99.00	\$198.00
Feb	68	644		EA	1.00	\$594.00	\$594.00
70	69	666		LF	32.00	\$1.00	\$32.00
71							
T22				LF			\$410.00
73			, , , , , , , , ,	LF		•	'
74				LF			
The color of the						· · · · · · · · · · · · · · · · · · ·	<u> </u>
The color of the							
77 678 PAV SURF PREP FOR MRK (4") LF 410.00 \$5.00 \$2,050.00 78 678 PAV SURF PREP FOR MRK (6") LF 32.00 \$5.00 \$1670.00 79 678 PAV SURF PREP FOR MRK (24") LF 34.00 \$5.00 \$170.00 80 680 INSTALL HWY TRF SIG (SYSTEM) (NEMA TS-2 CONTROLCABINET (GRND MNT) EA 1.00 \$42,000.00 \$42,000.00 81 682 VEH SIG SEC (12") LED (GRN) EA 8.00 \$260.00 \$2,080.00 82 682 VEH SIG SEC (12") LED (GRN) EA 8.00 \$260.00 \$52,080.00 83 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.00 84 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.00 85 682 BACK PLATE (12") (3 SEC) EA 6.00 \$150.00 \$90.00 86 682 BACK PLATE (12") (4 SEC) EA 2.00 \$170.00 \$340.00 87							
78 678 PAV SURF PREP FOR MRK (6") LF 32.00 \$5.00 \$160.00 79 678 PAV SURF PREP FOR MRK (24") LF 34.00 \$5.00 \$170.00 80 680 INSTALL HWY TRF SIG (SYSTEM) (NEMA TS-2 CONTROLCABINET (GRND MNT) EA 1.00 \$42,000.00 \$42,000.00 81 682 VEH SIG SEC (12") LED (GRN) EA 8.00 \$260.00 \$2,080.01 82 682 VEH SIG SEC (12") LED (GRN ARW) EA 8.00 \$260.00 \$2,080.01 83 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.01 84 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.01 85 682 BACK PLATE (12") (4 SEC) EA 8.00 \$260.00 \$2,080.01 86 682 BACK PLATE (12") (4 SEC) EA 2.00 \$170.00 \$340.00 87 684 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) LF 855.00 \$3.00 \$2,565.00			, ,				
Page Pay Surf Prep for Mrk (24")			, ,				
BO							
Secont Secont Secont Second S			\ /				,
81 682 VEH SIG SEC (12") LED (GRN) EA 8.00 \$260.00 \$2,080.00 82 682 VEH SIG SEC (12") LED (GRN ARW) EA 2.00 \$260.00 \$520.00 83 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.00 84 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.00 85 682 BACK PLATE (12") (3 SEC) EA 6.00 \$150.00 \$900.00 86 682 BACK PLATE (12") (4 SEC) EA 2.00 \$170.00 \$340.00 87 684 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) LF 855.00 \$3.00 \$2,565.00 89 686 INS TRAF SIG PL AM (S) STR (TY D) (34") W/ LUM EA 2.00 \$9,200.00 \$18,400.0 90 690 INSTALL OF FIDE FOR GROUND MINT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 92 690	80	680	, , , ,	EA	1.00	\$42,000.00	\$42,000.00
82 682 VEH SIG SEC (12") LED (GRN ARW) EA 2.00 \$260.00 \$520.00 83 682 VEH SIG SEC (12") LED (YEL) EA 8.00 \$260.00 \$2,080.00 84 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.00 85 682 BACK PLATE (12") (4 SEC) EA 6.00 \$150.00 \$900.00 86 682 BACK PLATE (12") (4 SEC) EA 2.00 \$170.00 \$340.00 87 684 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) LF 855.00 \$3.00 \$2,555.00 88 686 INS TRAF SIG PL AM (S) STR (TY D) (34") EA 2.00 \$9,200.00 \$19,800.0 89 686 INS TRAF SIG PL AM (S) STR (TY D) (34") W/ LUM EA 2.00 \$9,900.00 \$19,800.0 90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 \$0.00	Ω1	682		FΛ	8 00	\$260.00	\$2.080.00
83 682 VEH SIG SEC (12") LED (YEL)							
84 682 VEH SIG SEC (12") LED (RED) EA 8.00 \$260.00 \$2,080.00 85 682 BACK PLATE (12") (4 SEC) EA 6.00 \$150.00 \$900.00 86 682 BACK PLATE (12") (4 SEC) EA 2.00 \$170.00 \$340.00 87 684 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) LF 855.00 \$3.00 \$2,565.00 88 686 INS TRAF SIG PL AM (S) STR (TY D) (34") EA 2.00 \$9,200.00 \$18,400.0 89 686 INS TRAF SIG PL AM (S) STR (TY D) (34") W/ LUM EA 2.00 \$9,900.00 \$18,400.0 90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 \$0.00 92 690 REMOVED - (NOT USED) EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95							'
S5 682 BACK PLATE (12") (3 SEC)			, , , , ,				
86 682 BACK PLATE (12") (4 SEC) EA 2.00 \$170.00 \$340.00 87 684 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) LF 855.00 \$3.00 \$2,565.00 88 686 INS TRAF SIG PL AM (\$) STR (TY D) (34") EA 2.00 \$9,200.00 \$18,400.0 89 686 INS TRAF SIG PL AM (\$) STR (TY D) (34") W/ LUM EA 2.00 \$9,900.00 \$19,800.0 90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$1,900.00 \$1,900.00 92 690 REMOVED - (NOT USED) EA 0.00 \$0.00 93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td>•</td> <td></td>						•	
87 684 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) LF 855.00 \$3.00 \$2,565.00 88 686 INS TRAF SIG PL AM (S) STR (TY D) (34') EA 2.00 \$9,200.00 \$18,400.0 89 686 INS TRAF SIG PL AM (S) STR (TY D) (34') W/ LUM EA 2.00 \$9,900.00 \$19,800.0 90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,000							
88 686 INS TRAF SIG PL AM (S) STR (TY D) (34') EA 2.00 \$9,200.00 \$18,400.0 89 686 INS TRAF SIG PL AM (S) STR (TY D) (34') W/ LUM EA 2.00 \$9,900.00 \$19,800.0 90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 92 690 REMOVED - (NOT USED) EA 0.00 \$0.00 93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$33,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00							
89 686 INS TRAF SIG PL AM (S) STR (TY D) (34') W/ LUM EA 2.00 \$9,900.00 \$19,800.0 90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 92 690 REMOVED - (NOT USED) EA 0.00 \$0.00 93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 \$890.00 99 Preemption Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,70							
90 690 INSTALL OF FND FOR GROUND MNT CABINETS EA 1.00 \$1,900.00 \$1,900.00 91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 92 690 REMOVED - (NOT USED) EA 0.00 \$0.00 93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 \$3,700.00 99 Preemption Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00							
91 690 REMOVED - (NOT USED) EA 0.00 \$0.00 92 690 REMOVED - (NOT USED) EA 0.00 \$0.00 93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 \$3,700.00 99 Preemption Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00							<u> </u>
92 690 REMOVED - (NOT USED) EA 0.00 \$0.00 93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 99 Preemption Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00						\$1,900.00	' '
93 2143 COUNTY GPS SERIAL COMMUNICATIONS MODULE EA 1.00 \$462.00 \$462.00 94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 99 Preemption Specs CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00			, ,				
94 6025 RADAR PRESENCE DETECTOR EA 4.00 \$9,500.00 \$38,000.0 95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.0 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 99 Preemption Specs CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00			, ,			4450.00	
95 6057 RADAR ADVANCED DETECTION DEVIDE EA 2.00 \$9,500.00 \$19,000.00 96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption GLANCE SOFTWARE SUBSCRIPTION AND EA 1.00 \$890.00 \$890.00 99 Preemption CONFIGURATION EA 1.00 \$3,700.00 \$3,700.00 99 Preemption Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00						•	
96 Preemption Specs AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM EA 1.00 \$3,300.00 \$3,300.00 97 Preemption Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.00 \$528.00 98 Preemption Specs GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION EA 1.00 \$890.00 \$890.00 99 Preemption Specs CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00						1-7	1 7
96	95		RADAR ADVANCED DETECTION DEVIDE	ŁΑ	2.00	\$9,500.00	\$19,000.00
97 Specs HIGH GAIN ANTENNA KIT EA 1.00 \$528.	96	Specs	AI 500-85 FMU2 PREEMPTION/PRIORITY SYSTEM	EA	1.00	\$3,300.00	\$3,300.00
98 Specs CONFIGURATION EA 1.00 \$890.00 \$890.00 99 Preemption Specs CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00	97		HIGH GAIN ANTENNA KIT	EA	1.00	\$528.00	\$528.00
Specs CONFIGURATION FA 3.00 \$3,700.00 \$2,670.00	00	Preemption	GLANCE SOFTWARE SUBSCRIPTION AND	۲,	1.00	¢000.00	¢000.00
99 Preemption Specs CONNECTIVITY & SUPPORT SERVICES PLAN (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN EA 1.00 \$3,700.00 \$3,700.00 100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00	98	Specs	CONFIGURATION	EA	1.00	\$890.00	\$890.00
Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN 100 Preemption Specs Al 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00	00	Preemption	CONNECTIVITY & SUPPORT SERVICES PLAN	F.*	1.00	62.700.00	ć2 7 00 00
100 Preemption Specs AI 500-065 IN VEHICLE PREEMPTION/PRIORITY SYSTEM EA 3.00 \$3,100.00 \$9,300.00 101 Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2,670.00	99	Specs	(WITH CELLULAR DATA PLAN) - 5 YEAR PLAN	ŁΑ	1.00	\$3,700.00	\$3,700.00
Preemption GLANCE SOFTWARE SUBSCRIPTION AND FA 3.00 \$890.00 \$2.670.00	100	Preemption		EA	3.00	\$3,100.00	\$9,300.00
	101		GLANCE SOFTWARE SUBSCRIPTION AND CONFIGURATION	EA	3.00	\$890.00	\$2,670.00
Preemption CONNECTIVITY & SUPPORT SERVICES PLAN FA 3.00 \$3.700.00 \$11.100.00	102	Preemption	CONNECTIVITY & SUPPORT SERVICES PLAN	EA	3.00	\$3,700.00	\$11,100.00
Specs (WITH CELLULAR DATA PLAN) - 5 YEAR PLAN							\$248,883.40

					FUSED II	ndustries
Item	Spec.	Item	Unit	Unit	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures
CTION 7 -	STORM WAT	TER POLLUTION PREVENTION PLAN				
103	162	Sodding for Erosion Control (various widths)	SY	1,985.00	\$5.00	\$9,925.0
104	165	Hydro-mulch Seeding (For Erosion Control & Stabilization)	AC	3.53	\$2,380.00	\$8,401.4
105	700	TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees (Contractor's NOI Fee & Harris County's NOI Fee, Each Fee shall be set price of \$325.00)	EA	1.00	\$325.00	\$325.0
106	713	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	LF	200.00	\$1.60	\$320.0
107	719	Inlet Protection Barrier (Stage 1, with Reinforced Filter Fabric Fence; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	39.00	\$132.00	\$5,148.0
108	750	Rock Filter Dam- TY 4 (Furnish, Install & Remove)	LF	30.00	\$165.00	\$4,950.0
109	724	Stabilized Construction Access (Type 1-Rock; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	SY	267.00	\$11.00	\$2,937.0
110	730	Concrete Truck Washout Structures (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	1.00	\$1,000.00	\$1,000.0
111	741	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	26.00	\$85.00	\$2,210.0
112	751	SWPPP Inspection and Maintenance (Min. Bid - \$6,000/Month)	МО	6.00	\$6,000.00	\$36,000.

SUBTOTAL SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 103 - 112)

\$71,216.40

	FUSED Industries
SUBTOTAL SECTION 1 - SITE PREPARATION AND EARTHWORK (Bid Items 1 - 11)	\$187,989.00
SUBTOTAL SECTION 2 - PAVING (Bid Items 12 - 24)	\$1,476,801.90
SUBTOTAL SECTION 3 - STORM SEWER (Bid Items 25 - 38)	\$942,705.00
SUBTOTAL SECTION 4 - TRAFFIC CONTROL PLAN (Bid Items 39 - 44)	\$28,193.45
SUBTOTAL SECTION 5 - SIGNING AND PAVEMENT MARKINGS (Bid Items 45 - 55)	\$15,362.00
SUBTOTAL SECTION 6 - TRAFFIC SIGNAL (Bid Items 56 - 102)	\$248,883.40
SUBTOTAL SECTION 7 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 103 - 112)	\$71,216.40
BASE BID - GRAND TOTAL (Bid Items 1 through 112)	\$2,971,151.15

Note: Italicized numbers represent mathematical errors.